93202 COMBO FLUSH BOLT

TEMPLATE: 939305

FOR WOOD DOOR APPLICATIONS REV. 0 08-26-14
CONSTANT LATCHING FLUSH BOLT MORTISE
TOP BOLT SHOWN 2.3/4"
[69.9] MORTISE
21/8" 0.050"
- NOT TO SCALE - [54.0] [1.3]
916" |
el wonse
[28.6]
FRAME LIP STRIKE / 314" :
(2X) #8 X 3/4"[90.1] SCREWS [19.0] g
Ne— e = M
11/2"
5/g" [38.1] 5/g"
ACTIVE DOOR STRIKE [15.9] [15.9]
(2X) #8 X 3/4"[19.1] SCREWS TOP AND BOTTOM BOLT HEAD GUIDE
11/4" 112~ (TOP SHOWN)
’, [31.8] “ 127 o (3X) #10 X 1"[25.4] SCREWS
T Aﬂ !>_ 77777 . e \ 14 _\\
|
) % N [6.4]
B N [44.5] TR T [ [6.4]
/3 B ! INN /
| [9.5] ' ' ' % N\ K
|| | __ | MORTISE — L _\
" 1" 2 5/8" 19/16" 19/16"
0'[2?2] ——l—l— 72/2"2 [25.4] [66.7] [39.7] [39.7]
—22. SQUARE MORTISE
112 "
& 12.7] BACKSET 6115::1460
A 3/4" [154.0 MORT'!SE —_
[19.0] :g.;s]
| \% \\ L L LA Lazlzd TOP OF DOOR
1 11I4" N 1 1‘/4" \)
[31.8] [31.7] Y,
l l /
\ /
N\ \
(2X) 8-32 X 1/2"[12.7] — \
SCREWS \ \
6 1/4" \
\ [158.8] \
\ MORTISE //
7 1/8"
\ [181.0] /
\ 8 1/4" /
[209.6] /
/
/
MORTISE
Q\ 8 1/2" y 4
[215.9] /
\\\\ /
/
/
\ L. /
N /
N |
|
| r
(2X) #8 X 3/4"[19.1] — \
SCREWS ¢ |
Jee — |
%
L4
R1/4" / :g‘,:] - MORTISE _’_L_ \\
[R6.2] 172" ' 18
[12.7] [3.4] MORTISE — |
2" /
MORTISE [50.8]
1 | I /
[25.4] - - —_
§ -~ B
-~ e
PAGE 1 OF 2
wores: PARDCA
PDQ Manufacturing
INCHES 2754 Creek Hill Rd.
1. DIMENSIONS IN [MM] - Leola, PA 17540

2. ALWAYS CHECK PDQ WEBSITE FOR THE MOST RECENT
TEMPLATE REVISION AT WWW.PDQLOCKS.COM

800-441-9692
Fax: 717-656-6892
www.pdglocks.com



93202 COMBO FLUSH BOLT

FOR WOOD DOOR APPLICATIONS

TEMPLATE: 939305
REV.0  08-26-14

BOTTOM BOLT SHOWN

f \\/ﬂ S - NOT TO SCALE -
~ - B h ~
MORTISE r IR -
1" T T T
172" [25.4] N
[2.7]  ~ MORTISE \
R1/4" o \
[R6.2] 114"
\\ [6.4] ] [50.8] \’
N 3
e 1 }
MORTISE f
(2X) #8 X 3/4"[19.1] —] 1/8" (
SCREWS [3.4]
. |
] = %// \\
LAY ¥ EH 7,7
. / \
, / \
/ / 44 \
,' .
MORTISE / N
8 1/2" N
/ [215.9] N
N
/ 8 1/4" N
200.6
(209-61 MORTISE h N
71/4" \
% [184.2] .
/ 6 3/8" \
[161.9] I
/ /
(2X) 8-32 X 1/2"[12.7] — /
SCREWS /
(
| 1 11/4" ) A
[y {/ [31.7 | | )
' /
l /l | j AN X\i NS | BOTTOM OF DOOR
| MORTISE —
! BACKSET 1/8"
JLL SQUARE [3;/:_ 0] ¢ 28]
172"
M2.7] MORTISE
6 116"
[154.0]
0.060" . .
- 7/8" 25/ 19116 19116
[1.5] T_ [22.2] MORTISE — [66.7] [39.7] [39.7]
. | s - we
N ::@ : ) ,/ﬁ%//l/ [6.3] .
T _|\/ ) | 13/4 DOOR € é ,/.' N ' | \
S E— ) [ . /\ 3 |
%8;] | ! ! N\ A :{34:] B )
' _|J I L ' _/
L 11/4" _J L 11I227 ¢ \_TOP AND BOTTOM BOLT HEAD GUIDE
[31.8] 127l (BOTTOM SHOWN)
ACTIVE DOOR STRIKE (3X) #10 X 1"[25.4] SCREWS
(2X) #8 X 3/4"[19.1] SCREWS
STOP ON FRAME
15327 % - - — ¢
FRAME & SILL STRIKE [11_9£ h
(2X) #8 X 3/4"[19.1] SCREWS . o M:)slme
[7.9] [41.3] [23.8] ‘l
MORTISE ——j1— PAGE 2 OF 2
MORTISE 0'[(:53?]
21/4" '
[57.2]

PARDE@
PDQ Manufacturing
2754 Creek Hill Rd.
Leola, PA 17540
800-441-9692
Fax: 717-656-6892
www.pdglocks.com



	93202 Automatic Flush Bolt 8-26-14-1of 2
	93202 Automatic Flush Bolt 8-26-14-2 of 2



